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MODEL QUESTIONS 
FOR 

MARTIC EXAMINATION
 SUBJECT-SCIENCE 

SET-III 
PHYSICS 

1- vory niZ.k ds ,d mi;ksx fy[ksaA 

Write down one of the use of concave  mirror.  01 
2- izdk’k ds ijkoŸkZu ds fdrus fu;e gSa \ 

How many laws are for reflection of light ? 01 
3- ,Eih;j&ldsaM ds lerqY; HkkSfrd jkf’k dk uke fy[ksaA 

Write down name of the physical quantity equivalent to ampere-second. 01 
4- fo/kqr mtkZ dk O;kolkf;d ek=d D;k gSa \ 

What is commercial unit of electrical energy ? 01 
5- ijek.kq ce fdl vfHkfØ;k ij vk/kkfjr gS \ 

Atom Bomb is based on which reaction ? 01 
6- ikf’Zod foLFkkiu ls vki D;k le>rs gSa \ 

What do you mean by lateral displacement ? 02 
7- vPNk bZa/ku D;k gSa \ 

What is good fuel ? 02 
8- fdlh fo/kqr ifjiFk esa y?kqiFku ls vki D;k le>rs gSa \ 

What do you mean by short circuiting in an electrical circuit ?  03 
9- fn;s x;s mŸky ysal] vory ysal ,oa dk¡p dh o`Ÿkkdkj ifëdk ds lrgksa dks Nq, fcuk mudh 

igpku dSls djsaxs \ 

How will you distinguish a given convex lens, concave lens and a cercular disc of glass 
without touching its surface ?  03 

10- /kkjkokgh pkyd ds bnZ&fxnZ pqEcdh; {ks= mRiUu gksrk gSA mls fn[kkus ds fy, vkWLVZM ds 

iz;ksx dk o.kZu djsaA 

Describe Oersted experiment to show the magnetic field produced around a current 
carrying wire.  05 

CHEMISTRY 

11- ,YdkbZu dk lkekU; lw= fy[ksaA 01 

Write down the general formula of Alkyne. 
12- /kksus ds lksMk dk v.kqlw= fy[ksaA 01 

Write down the molecular formula of washing powder. 
13- ,d ,sls /kkrq dk uke fy[ks tks dejs ds rki ij nzo voLFkk esa gksA 01 

Write down the name of a metal which is liquid at Room temprature. 
14- eSXusfl;e vkDlhtu ls la;ksx djrk D;k gksrk gS \ 01 

What happen when magmesium combined with oxygen ? 
15- dkCkZu ds nks vi:Ik dk uke fy[ksaA 01 

Write down the name of  two allotropes of Carbon. 
16- izfrLFkkiu vfHkfØ;k D;k gSa \ mnkgj.k ds lkFk Li”V djsaA 02 

What is substitution reaction ? Explain with example. 
17- ,Fkkbu dk lajpuk lw= fy[ksaA;g iz;ks’kkyk esa fdl izdkj cuk;k tkrk gSa \ 02 

Write down the structural formula of ethyne. How this is prepared in laboratery. 
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18- [kfut rFkk v;Ld esa D;k varj gS \ yksgk ds ,d v;Ld dk uke fy[ksaA  03 

What is the diffrence between miniral and ore ? Write down the name of an ore of iron. 
19- lksfM;e dk ijek.kq la[;k fy[ksa ,oa lksfM;e dk bYkSdVªku fcUnq lajpuk fy[ksaA 03 

What is the atomic number of sodium ? Write down the electron dot formula of sodium. 
20- fuEufyf[kr ;kSfxdksa dk lajpuk lw= fy[ksaA 05 

¼d½ ,lhVyfMgkbM ¼[k½ DyksjksQkeZ 

¼x½ O;qVsu ¼?k½ vkblks O;qVsu ¼M+½ ,lhVhd vEy 

Write down the structual formula of the following compound. 
(a) Acetal dehyde (b)Chloroform 
(c)Butane (d)Iso butane  (e)Acetic acid 

BIOLOGY 

21.  ijkx.k fdls dgrs gSa \ 01 

What is Pollination.
22. HIV vkSj AIDS dk iw.kZ :Ik nsaA 01 

Write the full forms of HIV & AIDS.
23. xq.klw= dk LoPN ukekafdr fp= cukosaA 01 

Draw a neat labelled diagram of chromosome.
24. jDr nkc fdlds }kjk fu;af=r gksrk gSa \ 01 

Blood pressure controls by which .
25. gjs ikS/ks esa fdl ?kVd ds vHkko esa izdk’k la’ys”k.k laHko ugha gSaA 01 

The diffrency of wich component restricts photosyanthis is in green plant.
26. TkBj xzafFk;ksa ls LRrkfor gksus okys jlks dk uke fy[ksaA 02 

Write the enzymes secreted by gastrie glands.
27. ‘olu vkSj ngu esa nks vUrj fy[ksaA 02 

Write two differences between respiration and combustion.
28. vehok esa iks”k.k dh izfØ;k dks fp= lkFk le>k;sa \ 03 

Explain nutrition in amoeba with diagram.
29. ijkx.k fdls dgrs gSa \ o”kkZ gksus ij D;k izHkko iM+rk gSa \ 03 

Define pollination describe the effuel of rain full on pollination.
30. òDdk.kq ¼usQzkWu½ dh jpuk dk o.kZu djsaA 05 

Explain the machanism and ultra structure of nephron.
vFkok 

vkstksu D;k gSa \ ;g fdlh ikfjra= dks fdl izdkj izHkkfor djrk gSaA 

What is ozone ? Which effect of any ecosystem ? How. 

PHYSICS Objective 
31. ¼i½ izdk’k ds ijkoŸkZu ds fu;e gSaA 01 

¼d½  1   ¼[k½  3 

¼x½  2    ¼?k½  4 

The laws of reflections are. 
¼a½ 1 ¼b½ 3 

¼c½ 2 ¼d½ 4
¼ii½  fuEu esa dkSu lk inkFkZ ysal ds fy,] iz;qDr ugha fd;k tk ldrk gSa \ 01 

¼d½  ty ¼[k½  dk¡p 

¼x½  iykfLVd ¼?k½  feÍh 

Which one of the following materials can not be used to make a lens ? 
¼a½ Water ¼b½ glass

¼c½ plastic ¼d½ clay
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¼iii½ fdlh pkyd ds Nksjksa ds chp foHkokarj V, izfrjks/k R ,oa izokfgr /kkjk I ds chp laca/k gSaA  01 

¼d½  I = R/V     ¼[k½  R = I/V   
¼x½  R = V/I     ¼?k½  buesa ls dksbZ ugha   

The relation among potential difference V, resistance R and the flowing current I is. 

¼a½ I = 
�
�

¼b½ R = 
�
�

 

¼c½ R = 
�
�

 ¼d½ None of these

¼iv½ gekjs ?kjksa esa tks fo/kqr vkiwfŸkZ dh tkrh gS og 01 

¼d½  220 V ij fn”V /kkjk gSaA ¼[k½  12 V ij fn”V /kkjk gSaA 
¼x½  220 V ij izR;koŸkhZ /kkjk gaSA¼?k½  12 V ij izR;koŸkhZ /kkjk gSaA 
The electric supply in our domestic use is 
¼a½ D.C Current at 220 V ¼b½ D.C Current at 12 V

¼c½ A.C Current at 220 V ¼d½ A.C Current at 12 V
¼v½  Xykscy okfeZax ds fy, mŸkjnk;h xSl gS 01 

¼d½  O2 ¼[k½ NH3 
¼x½  CO2 ¼?k½  N2 
Which gas os responsible for global warming. 
¼a½ O2 ¼b½ NH3

¼c½ CO2 ¼d½ N2

¼vi½fdlh oLrq dk izfrfcEc vk¡[k ds ftl Hkkx ij curk gS] og gS 01 

¼d½  dkWfuZ;k ¼[k½ jsfVuk 

¼x½  iqryh ¼?k½ vkbfjl 

The part of eye where image is formed is 
¼a½ Cornea ¼b½ Retina

¼c½ Pupil ¼d½ Iris
¼vii½1 fdyksokV ?kaVk fuEu esa ls fdlds cjkcj gS \ 01 

¼d½  3-6X10
10
 twy ¼[k½ 1-6X10

&19
 twy

¼x½  3-6X10
6
 twy ¼?k½ buesa ls dksbZ ugha 

Which of the following equals to 1 kw. hr. 
¼a½ 3-6X10

10
 Joule ¼b½  1-6X10

&19
 Joule

¼c½ 3-6X10
6
 Joule ¼d½ None of these

CHEMISTRY 

31-¼viii½-O-H fØ;k’khy ewyd dk uke D;k gSa \ 01 

¼d½  fdVksu    ¼[k½ ,fYMgkbM 

¼x½  ,Ydksgy    ¼?k½ buesa ls dksbZ ugha 

What is the name of –O-H functional group. 
¼a½ Ketone ¼b½ Aldehyde

¼c½ Alcohol ¼d½ None of these
¼ix½  flfydk D;k gSa \ 01 

¼d½  /kkrq ¼[k½ v/kkrq 

¼x½  mi /kkrq ¼?k½ buesa ls dksbZ ugha 
What is silica ? 
¼a½  Metal ¼b½  non metal  

¼c½  Metalloid ¼d½  None of these
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¼x½  vkoŸkZ lkj.kh esa vkoŸkhZ dh la[;k¡ fdruh gSa \ 01 

¼d½  7 ¼[k½ 4 

¼x½  5 ¼?k½ 10 

How many periods are there in periodic table ? 
¼a½  7 ¼b½  4 

¼c½  5 ¼d½  10 

¼xi½  fuEufyf[kr esa dkSu lk yo.k gSa \ 01 

¼d½  Hcl ¼[k½ NaoH 

¼x½  NH4OH ¼?k½ K2 SO4 
Which of the following is salt ? 
¼a½  Hcl ¼b½  NaoH 

¼c½  NH4oH ¼d½  K2 SO4

¼xii½  ukbVªkstu ds ,d v.kq esa nks ijek.kqvksa ds chp fdrus vkoa/k gSa \ 01 

¼d½  1 ¼[k½  5 

¼x½  3 ¼?k½  4 

What is the number of bonds between two atoms of nitrogen in a molecule of nitrogen ? 
¼a½ 1 ¼b½ 5 

¼c½ 3 ¼d½ 4
¼xiii½  laxejej dk jklk;fud lw= D;k gSa \  01 

¼d½  Ca CO3 ¼[k½  Mg CO3 
¼x½  Ca (HCO3)2 ¼?k½  NaCl 

What is the chemical formula of marble ? 
¼a½  Ca CO3 ¼b½  Mg CO3

¼c½  Ca (HCO3)2 ¼d½  NaCl
¼xiv½  bFkkby ,Ydksgy dk O;kikfjd mRiknu fdl jklk;fud fØ;k }kjk fd;k tkrk gSa \ 01 

¼d½  fd.ou    ¼[k½  vkDlhdj.k 

¼x½  vodj.k     ¼?k½  buesa ls dksbZ ugha  
Commercially Ethyl alcohol is prepare by which chemical method ? 
¼a½ fermentation ¼b½ Oxidation

¼c½ Reduction ¼d½ None of these

 Biology 

¼xv½fuEukafdr esa ls fdls vki miHkksDrk dh Js.kh esa j[ksaxsa \ 01 

¼d½ gjs ikS/ks ¼[k½ uhy gfjr ‘kSyky 

¼x½ taxyh tkuoj ¼?k½ Qwy vkSj iŸks 

Which the following will you put in consumar elase 
(a) Green Plants (b)Blue green alge 
(b) wild animals (d)flower & leaf 

¼xvi½  ekuo esa Mk;fyfll FkSyh gSa \ 01 

¼d½ usQzku ¼[k½ U;wjkWu 

¼x½ ekbVkdkWf.Mª;k ¼?k½ buesa ls dksbZ ugha 

Which is the bag of dialysis in man ? 
(a) Nephron  (b)Neuron 
(c)Mitochondria (d)None of these 
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¼xvii½ iw”ih ikS/ks esa ykSafxd tUku fdlds }kjk gksrk gSa \ 01 

¼d½ ifŸk;ksa }kjk ¼[k½ rus }kjk 

¼x½ Qwyks }kjk ¼?k½ cht }kjk 

In fowering plat sexual reproduction is done by 
(a)Leaves (b) Stem 
(c)Flower (d) Seed 

¼xviii½fuEu esa ls dkSu ,d tSfod izd }kjk vijkf/kr gksus okyk inkFkZ gSa \ 01 

¼d½ lw[ks ?kkl iŸks ¼[k½ ikWyhFkhu cSx 

¼x½ jcj  ¼?k½ IykfLVd 

Which of the following is Bio-digramable substance ? 
(a)Dried grass  leaves (b)Polythin bag 
(c)Rubber  (d)plastic 

¼xix½ dod esa iks”k.k dh dkSu lh fof/k gSa \ 01 

¼d½ Loiks”kh ¼[k½ er̀ thoh 

¼x½ laeHkksth ¼?k½ buesa ls dksbZ ugha 

What mode of nutrition is found in fungle ? 
(a)Auto trophic (b)Saprophytic 
(c)Holozole  (d)None of these 

¼xx½  thu ‘kCn fdlus izLrqr fd;k gSa \ 01 

¼d½ esaMy ¼[k½ MkfCkZu

¼x½ tkulu ¼?k½ ysekdZ 

Who propossed the word gene ? 
(a)Mendal (b) Darwin 
(c) johnson (d)Lamark 
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